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4. g 1994 AD :DB=2:5 Y o, EC 9] Ao]&=?

A

D
28Icm

@ 25cm @%Cm @ 27cm @ 28cm ® 29cm

B

AABE @ ACBD (AA &)
AB:CB=BE:BD

BD =28 x g = 20(cm)

28 :40 =BE : 20
BE = 14(cm)
- EC =40 - 14 = 26(cm)




AABC A A ©] o] 5243} ¥ BC o w2 D = & 4], AABD

9] ¥o]7} 30cm? ©|H, AADC 9] Yol|&?

@ 20cm? @ 22cm? 3Y24 cm?

@® 26cm? ® 28cm?

~&B

AB:AC =BD: DC o|E&2

BD:DC=10:8

w2kA, AABD 2 AADC 9] ol o] H]:= 5. 4 o]t}
5:4=30: AADC

.. AADC = 24(cm?)
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® AD=BC @) :ADB = /ACB
® BO =DO @ /BAC = /ACD
® /ABC + /BCD = 180°

AD //BC ©]E& /ADB = /CBD
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oABCD
= (DAEGD + oDGHC) - (DAEFB + oBFHC)
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= (90 + 20) — (12 + 54)
= 44(cm?)
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o} I A AABC ADEF Y W, /E + /F 9] A7]=?

D

A
/)

O 70° @ 80° @ 120° @140° ® 145°

wolB = t-§2Hel /A = Do|th
Zro] 92 180°°| 2 & /D + /E + (F = 180°
o LE+ (F = 180° — 40° = 140°
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dol=?
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oz @ of oz ot

9:6:5:?01_‘3_&@//@

CF:CA=FE:AB,9:14=FE: 12




13. o= 3"lM A G, G = 44 sABC, »ADC ] FAIFAH I,

AGEG’ = 6cm? & 1f, AABC 9] Yol & vl2 A L3k A-2?

A
G 614
B D E C
® 106cm? 2)108cm? ® 110cm?

AAGE = 3AGG’E = 18(cm?)
AADE = gAAGE = 27(cm?)

AABC = 4AADE = 108(cm?)




14. o2 279 #EPAIA 4ADC ¢ ADEB "
o] yolo] -2 oDBOC 9] Holet T2
4D, E o FEE 47 ot A G

12,10) , E (-36,0) - B

12,8) B (-24,0)
12,10),E (-24,0)

D (-
D(-
D (-
OD( 12,8) ,F (=36,0)
D (~12,10) . E (~34,0)

AADC + ADEB = oDBOF
ADEB = 2ACDB

w2tA EB : BO = 2: 1 o]t}
EB = 2BO = 24
ADEB 9} ADCA ©] §:gH1]7}2: 1 0|82 AD = %ﬁ

.~.ﬁ:§x12:8

© D(-12,8), E(~36,0)
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RO H=33:13=27:10]22 B E5S A= 1 AIZE
deH A 52 A= Zdal= A2 1x27 = 27(X7h)




18. Thg 197 22 AAZY ABCD ol A PQ L b AC 9] $3o]
SEAolth oAQCP 9] HolE Fatofat.

A P6cm)]D
\
8cm
O /
B-~. .7C
S~-16cm”
> cm”

> HE D 80 _cm?

DAQCP & WIEEo|ER
AABQ = ACDP (RHS)
DAQCP = DABCD - 24ABQ

:16x8—2x%x6x8

=128 — 48 = 80( cm?)




19.

2 1o A /BAD = /ACB, /DAE =
(EAC ¥ 1|, DE 9} EC 2] Zo]9] &5 +
shodat.

B

AABD ¢ ACBA

AB:BD =CB:BA

12:BD =16 : 12, BD = 9(cm)
AD:AC=3:40]E2
DE:EC=3:4, DE=3cm, EC =4cm
~EC-DE=4-3=1(cm)
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2} sk, oEBCG 9] W o]7t acm? ¢ w, oDEGF 9 W o
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> o
> =g ga

B ,

AADF : AAEG : AABC =1:4:9 0|22
AADF : oDEGF : oEBCG=1:(4-1): (9-4)=1:3:5

. (0DEGF 9] ¥o]) = gDEBCG = ga




